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Example 1

Q. Factorise the following expression:

6x2 + 12x

Answer:

6x2 + 12x = 6x(x + 2)
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Difference of Two Squares

The numbers 1, 4, 9, 16, ... are called perfect squares or just squares

because: 1 = 12, 4 = 22, 9 = 32 etc.

Likewise, 4x2 = (2x)2 and 9y2 = (3y)2, so we say 4x2 and 9y2 are also
squares.
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Notice:

(x + y)(x − y) = x(x − y) + y(x − y)

= x2 − xy + xy − y2

= x2 − y2

In reverse: x2 − y2 = (x + y)(x − y) The Difference of Two Squares
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Example 2

Q. Factorise the following expression:

25x2 − 16y2

Answer:

25x2 − 16y2 = (5x)2 − (4y)2

= (5x + 4y)(5x − 4y)
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